
Name: _____________________ SOL 6.2 b

● Click on the link https://www.geogebra.org/m/tt6x9ehp

● Click and drag on the point on the top of the arrow to where you think the arrow belongs on the 
number line provided.

● Click on “Check”.

● Record your answer below by placing the 4 arrows in the appropriate location with the correct 
label.

● Provide basic reasoning.

● Click on “New”.

For Example:
1
5

4
4

5
6

8
9

Reasoning: ⅕ is very close to 0/5 or 0.  4/4 is the same as 1.  8/9 and ⅚ are both 1 piece away 
from 1 but ninths are smaller pieces so it has to be closer to 1.
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